
86An ISO 9001 Registered Company   © 2022 Rice Lake Weighing Systems   1/22   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

Is
h
id

a 
W

M
-A

i

Part Number/Price
REF # PART # DESCRIPTION QTY SYNONYM PRICE
1 185604 WLDT, dead roller stand 1 Consult
2 105455 Insert, threaded 1/4-20NC 2 Consult
3 185722 Bumper, 2-1/2 round with washer 2 Consult
4 15149 Washer, plain STD 1/4 SST 2 Consult
5 151269 Screw, cap 1/4-20NC x 1-1/4 2 Consult
6 185723 Finishing plug, 2 inch square tubing 4 Consult
7 185607 Insert, threaded 1/2 - 13UNC 4 Consult
8 185606 Bracket, dead roller 1 Consult
9 71523 Screw, mach 10-32NF x 5/8, hex head 18-8 SST 4 Consult
10 14662 Nut, Jam 1/2-13NC hex SST 4 Consult
11 185724 Caster, 1/2-13UNC x 1-1/2, 3" x 1.25" wheel 4 Consult
12 39025 Nut, 10-32NF hex 18-8 SST 4 Consult
13 15148 Washer, lock 1/4 regular SST 4 Consult
14 185721 Cover, Ishida conversion, right to left output 1 Consult

ISHIDA WM-AI

Discharge Conveyor Stand, Left
See Stock Conveyor Unit on page 152 for Conveyor Parts List



87An ISO 9001 Registered Company   © 2022 Rice Lake Weighing Systems   1/22   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

Ishida WM-Ai 
Discharge Conveyor Stand, Left

5

11 10

1

14


